
PRE 2- MATH FOR DS

1-yCLASS 3 - EXERC ICES
⑧

EXERCICE 1 Let A be a nxn non-zero matrix whose

J equals k .

11 If he n and b EIR"
, explain

why there is only one vector x such that

Ax = b

y Suppose k en , show that there are
vectors be IR" for which the equation Ax = b
has no solutions .

ExERc Show that Ha
,
b EIR"

(atb) • (atb) = Halli +2 a. b t Hbk

EXERCKE 3 Let u, .
. . .vn be a bit of orthogonal

Io vectors
,
that is for all i.je La. . . - in }

vi. vj=o .
Iro ve that they are linearly

independent .


